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GRAPHS OF ELEMENTARY FUNCTIONS

Illustrations

1. The graph of  against  is shown below. 


 


(y − x) (y + x)

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_wKjke7bVCptc


Which one of the following shows the graph of  against  ? 


Watch Video Solution

y x

2. Draw the graph of .

Watch Video Solution

f(x) =
x2 − 8x + 15

x2 − 2x

https://dl.doubtnut.com/l/_wKjke7bVCptc
https://dl.doubtnut.com/l/_IajdwilyB6dx


3. In the given figure, the value of x is 

Watch Video Solution

4. Let
 
 If 
exists and

equals 

Watch Video Solution

f( ) = f or allrealxandy
x + y

2

f(x) + f(y)

2
f ′ (0)

−1andf(0) = 1, thenfindf(2).

https://dl.doubtnut.com/l/_Y1WhJ7VFKmAR
https://dl.doubtnut.com/l/_x1CWOVVDeVZg


5. Sketch the regions satisfying the following inequalities: 

(a)  


(b) 

Watch Video Solution

x > 2

|y| ≥ 1

6. Shade the regions where points satisfy .

Watch Video Solution

|x − y| < 1

7. Plot the region satisfying .

Watch Video Solution

|x| + |y| ≤ 2 and |x| + |y| > 2

8. If , then find the values of  graphically.

Watch Video Solution

x < 2 x2

https://dl.doubtnut.com/l/_vd9djdcU2hTJ
https://dl.doubtnut.com/l/_JPptZbU2rcmK
https://dl.doubtnut.com/l/_gP0S3WUtImdm
https://dl.doubtnut.com/l/_otFiOF4YbZYc
https://dl.doubtnut.com/l/_21AZnr1FVPMd


9. If , then find the vallues of  graphically.

Watch Video Solution

x < − 1 x2

10. Draw the graph of 

Watch Video Solution

f(x) = {
x3,x2 < 1

x,x2 ≤ 1

11. If , then find the values of  graphically.

Watch Video Solution

x > 2 1/x

12. If , then find the values of  graphically.

Watch Video Solution

x < − 1 1/x

13. When , find the values of .x > − 2 1/x

https://dl.doubtnut.com/l/_21AZnr1FVPMd
https://dl.doubtnut.com/l/_16bXSGx7oSVB
https://dl.doubtnut.com/l/_HYyOwLuSF9bc
https://dl.doubtnut.com/l/_nwYoPFCjkNYs
https://dl.doubtnut.com/l/_DmdtXnZhDXbn


Watch Video Solution

14. When , find the values of .

Watch Video Solution

x < 3 1/x

15. Draw the graph of .

Watch Video Solution

+ = 1
1

x

1

y

16. Draw the graph of .

Watch Video Solution

y =
1

x2

17. Draw the graphs of (i)  (ii)  and find

zeroes in each case. 

What do you notice ?

y = x2 − x − 6 y = 6 − x − x2

https://dl.doubtnut.com/l/_DmdtXnZhDXbn
https://dl.doubtnut.com/l/_A7YluBJmV10L
https://dl.doubtnut.com/l/_Gx3Z6PQ5kdJ0
https://dl.doubtnut.com/l/_koBKPlo0eci3
https://dl.doubtnut.com/l/_gcWh03pi9KT9


Watch Video Solution

18. The following figure shows the graph of , find

the sign of . 


Watch Video Solution

f(x) = ax2 + bx + c

a, b and c

https://dl.doubtnut.com/l/_gcWh03pi9KT9
https://dl.doubtnut.com/l/_66h91u8ARsaz


19. Let . Then find the number of solutions

of .

Watch Video Solution

f(x) = 2x(2 − x), 0 ≤ x ≤ 2

f(f(f(x))) =
x

2

20. If  is continuous at x=2 then the value of k

is ………………………. .

Watch Video Solution

f(x) = {
kx for . x ≤ 2

3 for x > 2

21. If 
 is a monotonically decreasing function

of 
in the largest possible interval 
Then
 
 (b) 


(d) 
has no real value

Watch Video Solution

f(x) = x3 + 4x2 + λx + 1

x ( − 2, − ).
2

3
λ = 4 λ = 2

λ = − 1 λ

https://dl.doubtnut.com/l/_YcxZVbBRRNgv
https://dl.doubtnut.com/l/_Ls870X4TbtCr
https://dl.doubtnut.com/l/_DjGdG4aqrQjm


22. For what real values of 
 do the roots of the equation


 lie between the roots of the equation 

Watch Video Solution

a

x2 − 2x − (a2 − 1) = 0

x2 − 2(a + 1)x + a(a − 1) = 0.

23. Find the value of 
for which 
for at least one

positive real 
.

Watch Video Solution

a ax2 + (a − 3)x + 1 < 0

x

24. Consider the inequality, , where  is a real

parameter. 

(a) Find the value of  for which the inequality has at least one

negative solution. 

(b) Find the values of  for which the inequality has at least one

positive solution. 

9x − a.3x − a + 3 ≤ 0 ' a'

' a'

' a'

https://dl.doubtnut.com/l/_ZbyhtHAwtTdq
https://dl.doubtnut.com/l/_J9S9eiZM2mJU
https://dl.doubtnut.com/l/_CegViYvGuFaq


(c) Find the vlaues of  for which the inequality has at least one real

solution.

Watch Video Solution

' a'

25. Let a, b, c real. If  has two real roots 

where  then show that 

Watch Video Solution

ax2 + bx + c = 0 α and β,

α < − 1 and β > 1, 1 + +
∣
∣
∣

∣
∣
∣

< 0
c

a

b

a

26. If  then the equation  has

Watch Video Solution

b > a, (x − a)(x − b) − 1 = 0

27. When , find the values of  graphically.

Watch Video Solution

x > − 2 |x|

https://dl.doubtnut.com/l/_CegViYvGuFaq
https://dl.doubtnut.com/l/_S8Y6FITeXELS
https://dl.doubtnut.com/l/_jNEmz77GzhVc
https://dl.doubtnut.com/l/_bMDzjm120Dci


28. When , find the values of  graphically.

Watch Video Solution

x > − 2 |x|

29. If |x + 2|  9 , then x belongs to

Watch Video Solution

≤

30. Draw the graph of .

Watch Video Solution

f(x) = x|x|

31. Draw the graph of .

Watch Video Solution

y = |x|

32. Draw the graph of .f(x) = x|x|

https://dl.doubtnut.com/l/_s5lklTcRhcWI
https://dl.doubtnut.com/l/_IOrDV5ttjU8G
https://dl.doubtnut.com/l/_leUtb1gYs0KN
https://dl.doubtnut.com/l/_gakst5pI2tpe
https://dl.doubtnut.com/l/_tMZoMaJfY2kO


Watch Video Solution

33. Draw the graph of the function 

and find the points of non-differentiability.

Watch Video Solution

f(x) = x − ∣∣x − x2∣∣, − 1 ≤ x ≤ 1

34. The set of all real numbers x for which  is

Watch Video Solution

x2 − |x + 2| + x > 0

35. Draw the graph of . Find the range of the

function.

Watch Video Solution

f(x) = |x| − |2x − 3|

36. Draw the graph of .f(x) = x|x|

https://dl.doubtnut.com/l/_tMZoMaJfY2kO
https://dl.doubtnut.com/l/_BPLHqTR824Q6
https://dl.doubtnut.com/l/_lQvBvB58rmnD
https://dl.doubtnut.com/l/_Tpa5IdRZjyZr
https://dl.doubtnut.com/l/_388I8qhyw5jG


Watch Video Solution

37. Let 
 has exactly one real

solution, then the value of 
is
3 (b)
0 (c) 1
(d) 2

Watch Video Solution

f(x) = x + 2|x + 1| + x − 1 ∣
.
Iff(x) = k

k

38. 

then the number of point where 
attains its minimum value is_____

Watch Video Solution

Letf(x) = {x3 + x2 + 3x + sinx ∣ (3 + s ∈ , ), x ≠ 0. 0x = 0
1

x

f(x)

39. The tangent to the curve  drawn at the point  intersects

the line joining  (a) on the left of 

(b) on the right of  (c) at no points (d) at all points

A. On the left of 

B. On the right of 

y = ex (c, ec)

(c − 1, ec− 1) and (c + 1, ec+ 1) x = c

x = c

x = c

x = c

https://dl.doubtnut.com/l/_388I8qhyw5jG
https://dl.doubtnut.com/l/_gkB8PfMPGGHd
https://dl.doubtnut.com/l/_L8FVdOd71pGX
https://dl.doubtnut.com/l/_qevRFHCLDToY


C. At no point

D. At all points

Answer:

Watch Video Solution

40. If a continous founction of defined on the real line R, assumes positive

and negative values in R, then the equation f(x)=0 has a root in R. For

example, if it is known that a continuous function f on R is positive at

some point and its minimum values is negative, then the equation

 has a root in R. Considetr  for all real x where k

is real constant. 

The line y=x meets  at

A. No point

B. One point

C. Two points

f(x) = 0 f(x) = kex − x

y = kexfork ≤ 0

https://dl.doubtnut.com/l/_qevRFHCLDToY
https://dl.doubtnut.com/l/_v2wCi6gKtzY6


D. More than two points

Answer:

Watch Video Solution

41. If a continous founction of defined on the real line R, assumes positive

and negative values in R, then the equation f(x)=0 has a root in R. For

example, if it is known that a continuous function f on R is positive at

some point and its minimum values is negative, then the equation

 has a root in R. Considetr  for all real x where k

is real constant. 

The line y=x meets  at

A. 

B. 1

C. 

D. 

f(x) = 0 f(x) = kex − x

y = kexfork ≤ 0

1

e

e

loge 2

https://dl.doubtnut.com/l/_v2wCi6gKtzY6
https://dl.doubtnut.com/l/_sYUVKSX1U4zK


Answer:

Watch Video Solution

42. If a continous founction of defined on the real line R, assumes positive

and negative values in R, then the equation f(x)=0 has a root in R. For

example, if it is known that a continuous function f on R is positive at

some point and its minimum values is negative, then the equation

 has a root in R. Considetr  for all real x where k

is real constant. 

The line y=x meets  at

A. 

B. 

C. 

D. 

Answer:

h id l i

f(x) = 0 f(x) = kex − x

y = kexfork ≤ 0

(0, )
1

e

( , 1)
1

e

( , ∞)
1

e

(0, 1)

https://dl.doubtnut.com/l/_sYUVKSX1U4zK
https://dl.doubtnut.com/l/_2sqEE5WQDJOX


Watch Video Solution

43. Find the number of solutions of equation 

Watch Video Solution

2x + 3x + 4x − 5x = 0

44. Draw the graph of 

Watch Video Solution

y = logx √x

45. Find number of roots of the equation .

Watch Video Solution

x3 − log0.5 x = 0

46. The circles 
 and 

touch each other externally
 touch each other internally
 intersect at two

points
none of these

Watch Video Solution

x2 + y2 − 12x − 12y = 0 x2 + y2 + 6x + 6y = 0.

https://dl.doubtnut.com/l/_2sqEE5WQDJOX
https://dl.doubtnut.com/l/_6QW1n0oTQRfa
https://dl.doubtnut.com/l/_wNTejrFqQRZn
https://dl.doubtnut.com/l/_fs5OMfWJQv3e
https://dl.doubtnut.com/l/_rbelF6YaEEIR


Watch Video Solution

47. Draw the graph of .

Watch Video Solution

f(x) = x|x|

48. Draw the graph of the function `f(x)=x^2

Watch Video Solution

49. Draw the graph of , where  denotes the

greatest integer function.

Watch Video Solution

f(x) = [x2], x ∈ [0, 2) [ ⋅ ]

50. Draw the graph of , where  denotes the

greatest ineger function.

Watch Video Solution

f(x) = [√x], x ∈ [0, 16) [ ⋅ ]

https://dl.doubtnut.com/l/_rbelF6YaEEIR
https://dl.doubtnut.com/l/_XApKEGhPucZB
https://dl.doubtnut.com/l/_hnFXJsi0B8iu
https://dl.doubtnut.com/l/_Hg6daIMgG0bA
https://dl.doubtnut.com/l/_6vVdPsA38pol


51. Draw the graph of , where  denotes the

greatest ineger function.

Watch Video Solution

y = [x] + √x − [x] [ ⋅ ]

52. Draw the graph of , where 

represents the greatest integer function.

Watch Video Solution

f(x) = [loge x], e− 2 < x < 10 [ ⋅ ]

53. Solve 
 (where 
 denotes the greatest integer

function).

Watch Video Solution

x2 − 4 − [x] = 0 []

https://dl.doubtnut.com/l/_6vVdPsA38pol
https://dl.doubtnut.com/l/_3ww5HxGges6A
https://dl.doubtnut.com/l/_MGdeLvxUufTL
https://dl.doubtnut.com/l/_vUlfGw50kWz0


54. Sketch the region of relation , where 

denots the greatest integer function.

Watch Video Solution

[x] + [y] = 5, x, y ≥ 0 [ ⋅ ]

55. Draw the graph of , where  represents the fractional

part function.

Watch Video Solution

f(x) = {2x} { ⋅ }

56. Find the domain of  (where  denots the

fractional part of x).

Watch Video Solution

f(x) = √|x| − {x} { ⋅ }

57. Solve : , where  represents the fractional part function.

Watch Video Solution

x2 = {x} {x}

https://dl.doubtnut.com/l/_QsoTKw7Ktn9I
https://dl.doubtnut.com/l/_XgfQspdvLX0x
https://dl.doubtnut.com/l/_5AqOrOk8eqj5
https://dl.doubtnut.com/l/_CpnJHGhxL3LB


58. Draw the graph of , where  represents the fractional

part function.

Watch Video Solution

y = 2{x } { ⋅ }

59. Draw the graph of , where  denotes the fractional part

function.

Watch Video Solution

y =
1

{x}
{ ⋅ }

60. Solve : (where  denotes the greatest integer

function and  denotes the fractional part function.

Watch Video Solution

4{x} = x + [x] [ ⋅ ]

{ ⋅ }

https://dl.doubtnut.com/l/_CpnJHGhxL3LB
https://dl.doubtnut.com/l/_p6CnikIu1PEf
https://dl.doubtnut.com/l/_W1ByIE4lhFzM
https://dl.doubtnut.com/l/_pXL11rQaw2Xd


61. Given the graph of the function , draw the graph of 

. 

Watch Video Solution

y = f(x)

y = sgnf(x)

62. Draw the graph of .

Watch Video Solution

f(x) = sgn(x3 − x)

https://dl.doubtnut.com/l/_Quw09wrkRAdO
https://dl.doubtnut.com/l/_yiAr9xsihhaA


63. Draw the graph of .

Watch Video Solution

f(x) = sgn(loge x)

64. Let a function  be defined in  as 


 where  and sgn  denote

fractional part and signum functions, respectively. Then find the area

bounded by the graph of  an the x-axis.

A. 2 sq. units

B. 3 sq. units

C. 4 sq. units

D. 5 sq. units

Answer:

Watch Video Solution

f(x) [ − 2, 2]

f(x) =

⎧⎪
⎨
⎪⎩

{x}, −2 ≤ x < − 1

|sgn x|, −1 ≤ x ≤ 1

{ − x}, 1 < x ≤ 2

{x} x

f(x)

https://dl.doubtnut.com/l/_OOSgapbIUndu
https://dl.doubtnut.com/l/_ofOp3RDoqQcL
https://dl.doubtnut.com/l/_WXb8qt1JyTyG


65. Let  be defined as . Then find the range

of the function, and also indentify the type of the function : one-one or

many-one.

Watch Video Solution

f :R → R f(x) = esgn x + ex
2

66. Draw the graph of the function  and write its

equivalent definition.

Watch Video Solution

f(x) = max . {x, x2}

67. Let  be a function defined by . The

set of all points where  is NOT differenctiable is 

(a)  


(b)  


(c )  


(d) 

Watch Video Solution

f :R → R f(x) = max . {x, x3}

f(x)

{ − 1, 1}

{ − 1, 0}

{0, 1}

{ − 1, 0, 1}

https://dl.doubtnut.com/l/_WXb8qt1JyTyG
https://dl.doubtnut.com/l/_Og9kNub15XbG
https://dl.doubtnut.com/l/_L8JvGR57TGK1


Watch Video Solution

68. Find the equivalent definition of

Watch Video Solution

f(x) = max

.

x2, ( − x)2, 2x(1 − x)whre0 ≤ x ≤ 1

69. Let  be respectively given by

. Define  by

.The number of points at which  is not differentiable is

A. 

B. 

C. 

D. 

Answer:

W t h Vid S l ti

f :R → R and g :R → R

f(x) = |x| + 1 and g(x) = x2 + 1 h :R → R

h(x) = { max {f(x), g(x)}, if x ≤ 0 and min {f(x), g(x)}, if x >

h(x)

1

2

3

4

https://dl.doubtnut.com/l/_L8JvGR57TGK1
https://dl.doubtnut.com/l/_XqYDcnOunjkH
https://dl.doubtnut.com/l/_qJ9Hm6OPzzXo


Watch Video Solution

70. Plot the region of the points P (x,y) satisfying 

Watch Video Solution

|x| + |y| < 1.

71. Consider the regions

 in

the plane. Then find the area of the region .

Watch Video Solution

A = {(x, y) ∣ x2 + y2 ≤ 100} and B = {(x, y) ∣ sin(x + y) > 0}

A ∪ B

72. Draw the graphs of the following parabolas : 

(i)  


(ii) 

Watch Video Solution

x = y2 − 2y − 3

x = 6 + y − y2

https://dl.doubtnut.com/l/_qJ9Hm6OPzzXo
https://dl.doubtnut.com/l/_PXF2SObKL92H
https://dl.doubtnut.com/l/_IsQb3GIZA4QU
https://dl.doubtnut.com/l/_0BigIAbqngdS


73. Find the number of roots of equation 

Watch Video Solution

x sinx = 1

74. Let 
 where 
 integer.

Check whether 
is periodic or not.

Watch Video Solution

g(x) = √x − 2k, ∀2k ≤ x < 2(k + 1), k ∈

g(x)

75. Plot the region in the first quadrant in which points are nearer to the

origin than to the line 

Watch Video Solution

x = 3.

76. Draw the graph of 

Watch Video Solution

y = √x2 − 1

https://dl.doubtnut.com/l/_69V4UwftOi7a
https://dl.doubtnut.com/l/_skvrC6RVtINT
https://dl.doubtnut.com/l/_QONEFS62FTr3
https://dl.doubtnut.com/l/_F1WiG1FSAI4K
https://dl.doubtnut.com/l/_s5udydUCJJUV


77. Draw the graph of 

Watch Video Solution

y = − √6 − 3x2

78. The eccentricity of the ellipse 
 is



b. 
c. 
d. 

Watch Video Solution

9x2 + 25y2 − 18x − 100y − 116 = 0

25/16 4/5 16/25 5/4

79. Find the area enclosed by the curves  and

the circle  above the x-axis.

Watch Video Solution

y = √x and x = − √y

x2 + y2 = 2

80. Plot the region in the first quadrant in which the points are nearer to

the origin thatn to the line .

Watch Video Solution

x = 3

https://dl.doubtnut.com/l/_s5udydUCJJUV
https://dl.doubtnut.com/l/_JXrGTFaLyivc
https://dl.doubtnut.com/l/_lgYV4ANfRo47
https://dl.doubtnut.com/l/_tGBbMgDboG9q


Exercise

1. Draw the graph of .

Watch Video Solution

y =
1

(1/x)

2. (a) Draw the graph of

 


(b) Sketch the region . 


(c) Sketch the region .

Watch Video Solution

f(x) = =

⎧⎪
⎪
⎨
⎪
⎪⎩

1, |x| ≥ 1

, < |x| < ,n = 2,3,...

0, x = 0

1
n2

1
n

1
n− 1

y ≤ − 1

|x| < 3

3. Sketch the regions which points satisfy .

Watch Video Solution

|x + y| ≥ 2

https://dl.doubtnut.com/l/_tGBbMgDboG9q
https://dl.doubtnut.com/l/_gSUoO6wNG3zE
https://dl.doubtnut.com/l/_YW1GHD3ljXe3
https://dl.doubtnut.com/l/_iRfe5lKdgSE0


4. Sketch the region satisfying .

Watch Video Solution

|x| < |y|

5. Let  and .

Write down the formulae for .

Watch Video Solution

f :R → R : f(x) = (x + 1) g :R → R : g(x) = (x2 − 2)

(gof)

6. Draw the graph of .

Watch Video Solution

y =
x − 1

x − 2

7. The following figure shows the graph of , then

find the sign of values of . 


f(x) = ax2 + bx + c

a, b and c

https://dl.doubtnut.com/l/_G4LxbhpDV5rF
https://dl.doubtnut.com/l/_u6dNU1DeVJOJ
https://dl.doubtnut.com/l/_RauMBteqH9LR
https://dl.doubtnut.com/l/_GrGRVwjnCZnL


Watch Video Solution

8. The entire graph of the equation 
 in strictly

above the 
if and only if
 
(b) `-5-5`
(d) none of these

A. 

B. 

C. 

D. None of these

y = x2 + kx − x + 9

x − aξs k < 7

k < 7

−5 < k < 7

k > − 5

https://dl.doubtnut.com/l/_GrGRVwjnCZnL
https://dl.doubtnut.com/l/_pOTkFThXWEOu


Answer:

Watch Video Solution

9. If 
the find the values of 

Watch Video Solution

x2 + 2ax + a < 0 ∀x ∈ [1, 3], a.

10. Draw the graph of .

Watch Video Solution

f(x) = x|x|

11. Draw the graph of the function:
Solve 
using the graphical

method.

Watch Video Solution

∣
∣
∣

∣
∣
∣

≤ 1
x2

x − 1

https://dl.doubtnut.com/l/_pOTkFThXWEOu
https://dl.doubtnut.com/l/_J5SYnDZjWVTT
https://dl.doubtnut.com/l/_ZsVeB0EPcRJu
https://dl.doubtnut.com/l/_WVphUDKqnPAJ


12. Draw the graph of .

Watch Video Solution

y = ∣∣x
2 − 2x∣∣ − x

13. Draw the graph of 

Watch Video Solution

y = 2x,x2 − 2x ≤ 0

14. Find the roots of the equation by factorization:


Watch Video Solution

2x2 − x − 1

15. Divide  by 

Watch Video Solution

16(x2yz + xy2z + xyz2) 4xyz

https://dl.doubtnut.com/l/_js9U9axRPGji
https://dl.doubtnut.com/l/_F6TioDPcyMNp
https://dl.doubtnut.com/l/_PRNRmIOSvOHs
https://dl.doubtnut.com/l/_c4QSlIzbK6O7


16. Find the set of real value(s) of 
 for which the equation


has more than two solutions.

Watch Video Solution

a

|2x + 3| + 2x − 3 ∣ = ax + 6

17. Draw the graph of .

Watch Video Solution

y = |x|

18. Draw the graph of 

Watch Video Solution

y =
1

loge x

19. Find the number of real solutions to the equation .

Watch Video Solution

log0.5 x = |x|

https://dl.doubtnut.com/l/_eXuHtq3uv6F1
https://dl.doubtnut.com/l/_qmyowkt29mIm
https://dl.doubtnut.com/l/_xqk4EhxCetCL
https://dl.doubtnut.com/l/_5mcchRoUYkzf


20. Draw the graph of , where  denotes the greatest

integer function.

Watch Video Solution

f(x) = x + [x] [ ⋅ ]

21. Given  is a periodic function with period 2 and it is defined as 

 


Here  represents the greatest integer . If , then draw the

graph of the function for .

Watch Video Solution

f(x)

       f(x) =
⎧
⎨⎩
[cos ] + 1, 0 < x < 1

2 − x, 1 ≤ x < 2

πx

2

[ ⋅ ] ≤ x f(0) = 1

x ∈ [ − 2, 2]

22. Sketch the region of relation , where 

denots the greatest integer function.

Watch Video Solution

[x] + [y] = 5, x, y ≥ 0 [ ⋅ ]

https://dl.doubtnut.com/l/_y7avAuwHQ2hd
https://dl.doubtnut.com/l/_OSQBwPINY0Zq
https://dl.doubtnut.com/l/_DVZVqOK0wQqR


23. Draw the graph of , where  represents the fractional

part function.

Watch Video Solution

y = 2{x } { ⋅ }

24. Let  for , where  represents

the greatest integer function and  represents the fractional part of x.

Draw the graph of . Prove that  is bijective. Also find

the range of the function.

Watch Video Solution

f(x) =
[x] + 1

{x} + 1
f : [0, ) → ( , 3]

5

2

1

2
[ ⋅ ]

{ ⋅ }

y = f(x) y = f(x)

25. Draw the graph of , where  represents the fractional

part function.

Watch Video Solution

y = 2{x } { ⋅ }

https://dl.doubtnut.com/l/_M6mStnqN2zeG
https://dl.doubtnut.com/l/_rUgWsS23KmH2
https://dl.doubtnut.com/l/_PSclyl7jpUkV


26. Find tha area of the region containing the points  satisfying 

.

Watch Video Solution

(x, y)

4 ≤ x2 + y2 ≤ 2(|x| + |y|)

27. Draw the graph of 

Watch Video Solution

y = √x2 − 1

28. Draw the graph of 
for 

Watch Video Solution

y = |x|
1
2 −1 ≤ x < 1.

29. Draw the graph of .

Watch Video Solution

f(x) = sgn(loge x)

https://dl.doubtnut.com/l/_Fk3xNwTleM4M
https://dl.doubtnut.com/l/_Hk0ZanGFEEE6
https://dl.doubtnut.com/l/_GbVNUMMUXtlP
https://dl.doubtnut.com/l/_qkihDScVlJlW


30. Draw the graph of 

Watch Video Solution

y = x − sinx

31. Draw the graph of the function . Is this

function same as the function .

Watch Video Solution

y = f(x) = lim
n→ ∞

x2n − 1

x2n + 1

g(x) = sgn(x2 − 1)

32. An even periodic function  with period 4 is such that 


. Then draw the graph of 

 for 

Watch Video Solution

f :R → R

f(x) = {
max . (|x|, x2), 0 ≤ x < 1

x, 1 ≤ x ≤ 2

y = f(x) x ∈ R

33. IF the domain of the function  is  then

range of the function is

f(x) = x2 − 6x + 7 ( − ∞, ∞)

https://dl.doubtnut.com/l/_dElNq0aX44ud
https://dl.doubtnut.com/l/_geYDMSb5rEeo
https://dl.doubtnut.com/l/_jyUU4gHhNCYq
https://dl.doubtnut.com/l/_MmpgXVxmymjL


A. A. Continuous at all points

B. B.Differentiable at all points

C. C. Differentiable at all points except at 

D. D.Continuous at all points except at , where it

is discontinuous

Answer:

Watch Video Solution

x = 1 and x = − 1

x = 1 and x = − 1

34. Solve  graphically. Check the differentiability of f (x)

=min. . Also find the range of y = f(x)

Watch Video Solution

sin− 1 x ≤ cos − 1 x

{sin− 1 x ≤ cos − 1 x}

https://dl.doubtnut.com/l/_MmpgXVxmymjL
https://dl.doubtnut.com/l/_E42jPK5t8gmN

